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1. Review the new economic policy of Lenin.

OR

Describe the reasons of failure of League of Nations.

2. Discuss the factors of rise of Fascism in Italy.

OR

State the social and economic effects of Fascist Administration.

3. Discuss the causes of Great Depression.

OR

Discuss the factors of rise of Nazism in Germany.

4.  Discuss the factors responsible for Second World War.

OR

Describe the achievements of United Nations.

5. (A) Find out the correct answer :
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By which agreement of 1925 between France and Germany friendly
environment established in European countries ?
(Locarno Pact, Constitution of Vemer)
In which year USSR got permanent membership in League of Nations ?
(1934 A.D., 1918 A.D.)
Which is the main branch of United Nations ?
(Security Committee, Great Committee)
What is a no. of Judges in International Court of UNO ?
(15, 20)
Who is the President of UNO at present ?
(Ban-Ki-Moon, Kofi Annan)
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Fill-up the blanks :

(1) ___ has implemented the Corporate State.

(2) Lower House of German Parliament was known as
(3) _____ the main branch of League of Nations.

(4) W.H.O. an organ of U.N. is related with _____.

Match the Pair :

(A) (B)
(I) Lenin (a) ISKRA
(2) Fascism (b) Germany
(3) Davas Plan (c) Mussolini
(4) Human Rights (d) LM.F.
(5) World bank (e) UNESCO
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